
N623P283124/N623P283125

1/21



2/21



3/21



4/21



1

2

3

4

5

6

78

9

11
10

12
13

14

15

16

17

18 19
20

21

22

23
24

25
26

27

28

29
30

31
35

3233

34

36

5/21



N623P283124

1

X1

2

X1

7

X2
10

X2

11

X1

13

X1
14

X1

15

X1

16

X1
17

X1

18

X1

19

X4
20

X2

23

X2

24

X1
26

X2

27

X2

28

X3
29

X1

33

X1

34

X1
6/21



N623P283125

3

X1

4

X4

5

X1
6

X1

8

X1

9

X1
12

X1

21

X1

22

X1
25

X2

30

X28

31

X1
32

X1

35

X2

36

X2

7/21



N623P283125

DE:Bitte beachten Sie, dass die Formen der Schrauben A und B und C ähnlich sind. Bitte installieren
Sie entsprechend der Anleitung und unterscheiden Sie sie!
UK:Please note that the shapes of screws A and B and C are similar. Please install according to the
instructions and distinguish them!
FR:Notez que les vis A et B et C ont des formes similaires. Veuillez les installer en suivant les
instructions pour les séparer!

DE:Bitte beachten Sie, dass die Formen der Schrauben D und E und G und H und I ähnlich sind.
Bitte installieren Sie entsprechend der Anleitung und unterscheiden Sie sie!
UK:Please note that the shapes of screws D and E and G and H and I are similar. Please install
according to the instructions and distinguish them!
FR:Notez que les vis D et E et G et H et I ont des formes similaires. Veuillez les installer en suivant
les instructions pour les séparer!

A M6X12MM x28

C M6X40MM x12

E M8X15MM x36

I M8X40MM x14

J M7X40MM x10

K M8X18MM x8

M x114

Q M8 x2

T x28

O x2

U x2

V x4

W x2

L x2M3X15MM

S x1

H M8X35MM x4

G M8X30MM x8

D x24M8X10MM

R x1

Z x2

P M6 x1

B M6X25MM x44

N x10M8

M6

M8

X x14

Y x2

A M6X12MM x28

C M6X40MM x12

B M6X25MM x44

E M8X15MM x36

I M8X40MM x14

H M8X35MM x4

G M8X30MM x8

D x24M8X10MM

8/21



1

2

4

2

1

3

4
5

6

11

9/21

C

S x1

L L

C M6X40MM x12

M x12

L x2M3X15MM

C

C
C

C

C

C
C

C
C

C

C
M

M

M

M

M
M

M
M

M
M

M

M

P M6 x1



3

4

9

8

10

10

J

J

J
J

J

J

J

J

J J

J M7X40MM x10

P M6 x1

A M6X12MM x8

M x8

P M6 x1

A

M M

A
A

M M

A

A

M M

A

A

M M

A

9

10

10

8

10/21



5

6

P M6 x1

A M6X12MM x8

M x8

A A

A A

A A

A A

11

M
M

M
M

M
M

M
M

P M6 x1

A M6X12MM x4

M x4

A A

M

M

A
A

M

M

7
7

11/21



7

8

12

A

A

A

A

A

A

AM

A

P M6 x1

A M6X12MM x8

M x8

M
M

M

M
M

M
M

U U

U x2

12/21

13
14

17
18

21
22

19

19

19

19B
B

B
B

B

B

B B

B
B

B

B
B

B

B
B

B

B

B
B

B
B

BB

BB

B

B

B

B

B

B

B

B
B

B
B

B

B
B

B
B

B
B

P M6 x1

B M6X25MM x44



9

10

14

18

13

17

V x4

W x1

K M8X18MM x4

M x4

Q M8 x2

H M8X35MM x4

K

K

M
H

H

M

K

K

M

M

H

H

13/21

W

V

V

V

V



12

11

16

15

E

E M8X15MM x8

M x8

Q M8 x1

O x2M6

E

E

E

E
E

E
E

M
M

M
M

M
M

M

M

O

O

20

2022

21

G

M x4

G M8X30MM x4

G

G

G

M

M

M

M

Q M8 x1

14/21



23

M x4

G M8X30MM x4

Q M8 x1

G

G

G

G

M

M

M
M

23

E M8X15MM x4

M x4

Q M8 x1

E

E

E

E

MM

M
M

14

13

15/21



16

15

31 32

E M8X15MM x12

Q M8 x1

E

E

E E

E E
E

E

E E
E

E

10MM

Z Z

I M8X40MM x4

K M8X18MM x4

M x4

Q M8 x2

Z x2

W

W x1

K

K

K

K

I

I

I

I

M

M

M

M

16/21



28

34

33

18

17

28

27

27

26

26

M x24

Q M8 x1

D x24M8X10MM

28

35

35

D

M

M

D

D

M

M

D

D

M

M
D

D

M

M
D

D

M

M

D

D

M

M

D

D

M

M
D

D

M

M
D

D

M

M

D

D

M

M

D

D

M

M
D

D

M

M
D

17/21



20

19

E M8X15MM x12

M x12

Q M8 x1

E E

M
M

E E

MM

E E

MM

E E

MM

E

E

E

E

M

M

M

M

25

25

24

I M8X40MM x4

N x4M8

Y x2

Q M8 x1

R x1M8

M x4

I
I

I I

M
M

M
M

N
N

N
N

Y

Y

18/21

36

36



x14

T x28

X x14

T

TX

30
30

1 2

19/21

22

21



24

23
1 2

I M8X40MM x6

Q M8 x1

R x1

N x6M8

M8

M x6

I

M

N

I

M

N

I

M

N

I

M

N

I

M

N

I

M

N

20/21



26

25
29

21/21






	图纸和视图
	模型

	图纸和视图
	模型




